
 

 1 

                       2

1 

2 

330 nm1138 nm 

 λ=1138 nm

 -589 nm 

 JeV  

3  

2 

 

 λ C,h  E2,E1 

 λ´  = 589,0 nm  

 =589,6 nm λ´´ .  أعذ رسم المخطط التالي على الورقة وحذد عليه موقع المستوييهE´2 , E´´2  

 .علل إجاتتك دون حساب.المتسثة في إصذار الاشعاعيه ..

 

 

 

 

 

 

E1= - 5,14  

E2= - 3,03 

E3= - 1,95  

E4= - 1,51  

E5= - 1,38 

E6= - 0,80  

E= 0 

1  

2

3  

4  

5  

E(ev) 

6  

E1= - 5,14 ev 

E3= - 1,93 ev 

- 3,03 ev 

3  

1  



 

 2 

  evE´2 , E´´2 

H=6,62x10
-34

 J .s   C=3x10
8
 m.s

-1   
 ,

  
e=1,6x10

-19
 C   

me=9,1x10
-31  

Kg , 1 ev=1,6 x10
-19

 J    

 

 


